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 11פתרון שאלה מס' 

 א.

BW =
f0

Q0
    →       f0 = BW ∙ Q0 = 1000 ∙ 10 = 10 KHz   

ω0 = 2 ∙ π ∙ f = 2 ∙ π ∙ 10000 = 62.8K 
rad

s
 

 ב.

UL = UC = Q0 ∙ U = 10 ∙ 250 = 2500V 

 ג. 

Xc = XL = ω0 ∙ L = 62800 ∙ 500 ∙ 10−3 = 31400Ω 

XC  =  
1

ω • C
→ C =  

1

ω • XC
=  

1

62800 ∙ 31400
= 0.5 ∙ 10−9F = 0.5 nF 

 

Q0 =  
ω0 ∙ L

R
=  

X

R
 → R =  

X

Q0
=  

31400

10
= 3140 Ω 

 ד. 

I =
U

Z
=

U

R
=  

250

3140
= 0.08A 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 21פתרון שאלה מס' 

 (א

UT = √UR
2 + (UL − UC)2 = √32 + (12 − 8)2 = √32 + 42 = 5V 

 ב(

R =
UR

I
=

3

2
= 1.5Ω                 XL =

UL

I
=

12

2
= 6Ω                    XC =

UC

I
=

8

2
= 4Ω       

L =  
XL

2 ∙ π ∙ f
=

6

2 ∗ π ∗ 50
= 19.1m             C =

1

2 ∙ π ∙ f ∙ XC
=

1

2 ∗ π ∗ 50 ∗ 4
= 800μF   

  ג(

 

 

 

 

 

 

 

 

 ד(

 

 

P = I2 ∙ R = 22 ∗ 1.5 = 6W                  QL = I2 ∙ XL = 22 ∗ 6 = 24VAr       

Qc = I2 ∙ Xc = 22 ∗ 4 = 16VAr            QLC = QL − QC = 24 − 16 = 8VAr   

S = U ∗ I = 5 ∗ 2 = 10VA 

 

 

 

 

 

 

 

 



 31פתרון שאלה מס' 

  .א

 XL < XC        י .ופי קיבולא 

10 = 6 Ω -= 4 CX – L= X TX 

 Z = √R2 + X2 = √82 + 62 = 10 Ω 

 ב.

I =
U

Z
=

110

10
= 11A 

 

P = I2 ∙ R =  112 ∙ 8 = 968 W          

Q = I2 ∙ X =  112 ∙ 6 = 726 VAr    

S = U ∙ I = 110 ∙ 11 = 1210 VA   

 

 ג.

·I = 6·11 = 66 VT= X VU 

10·11 = 66 V -= 4·11  CU – L= U VU 

 

 ד.           

 

 

 

 

 

 

 

 

 

 

 

 

 



 41פתרון שאלה מס' 

 א

 

ω = 2П•f =2П•400 = 2513   

XL = ω • L =  2513 • 5 • 10−3  ≈  12.5Ω 

XC =  
1

ω • C
=

1

2513 ∙ 20 ∙ 10−6
≈  20 Ω 

 ב

20 = 7.5 Ω -= 12.5 CX – L= X TX 

 Z = √R2 + X2 = √7.52 + 7.52 = 10.6 Ω 

 ג

I =
U

Z
=

200

10.6
= 18.86A 

 

 

P = I2 ∙ R =  18.862 ∙ 7.5 = 2667 W          

Q = I2 ∙ X =  18.862 ∙ 7.5 = 2667 VAr    

S = U ∙ I = 200 ∙ 18.86 = 3772 VA   

 

 

 

 

 

 

 

 

 

 

 

 

 



 51פתרון שאלה מס' 

 

Z = R + X + RL + XL = 1 + j4 + 39 + j26 = 40 + j30 = 50Ω|36.87 

I =
U

Z
=  

250

50
= 5A   

 

ZL = RL + XL = 39 + j26 = 46.8Ω|33.7               →    UVL = ZL ∗ I = 46.8 ∗ 5 = 234V 

URL = RL ∗ I = 39 ∗ 5 = 195V                UXL = XL ∗ I = 26 ∗ 5 = 130V 

UVL = √UR
2 + UXL

2 = √1952 + 1302 = 234V 

 

P = I2 ∙ RT =  52 ∙ 40 = 1000 W          

Q = I2 ∙ XLT =  52 ∙ 30 = 750 VAr    

 

S = U ∙ I = 250 ∙ 5 = 12 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 61פתרון שאלה מס' 

 

P =
U2

R
     → R =

U2

P
=

802

160
= 40Ω 

 

ω0 = 2 ∗ π ∗ f0 = 104    → f0 =
ω0

2 ∗ π
=

104

2 ∗ π
=

10000

2 ∗ π
= 1591.5Hz 

BW = 0.1f0 = 0.1 ∗ 1591.5 = 159.15Hz  

 

Q0 =  
f0

BW
=

1591.5

159.15
= 10 

 

L =  
Q0 ∙ R

2 ∙ π ∙ f0
=

10 ∗ 40

104
= 0.04H 

 

C =  
1

2 ∙ π ∙ f0 ∙ Q0 ∙ R
=  

1

ω0 ∙ Q0 ∙ R
=

1

104 ∗ 10 ∗ 40
= 250nF 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 71פתרון שאלה מס' 

 

ω = 2 ∙ π ∙ f  = 2 ∗ π ∗ 200 = 1256.6 

XL = ω • L = 1256.6 ∗ 6.37 ∗ 10−3 = 8Ω       

XC  =  
1

ω • C
=

1

1256.6 ∗ 159 ∗ 10−6 = 5Ω   

 

XT = XL − XC = 8 − 5 = 3Ω             Z = √R2 + XT
2 = √42 + 32 = 5Ω 

I =
U

Z
=  

120

5
= 24A   

UR = R ∙ I = 4 ∗ 24 = 96𝑉          

UL = XL ∙ I = 8 ∗ 24 = 192V          

 UC = XC ∙ I = 5 ∗ 24 = 120V 

 

XC = XL = 8Ω →       C =  
1

ω • XC
=

1

1256.6 ∗ 8
= 99.4μF   

f0 =  
1

2 ∙ π√(L ∙ C)
=

1

2 ∗ π ∗ √(6.37 ∗ 10−3 ∗ 159 ∗ 10−6)
= 158.14Hz 

 

 

 

 

 

 

 

 

 

 

 

 



 18פתרון שאלה מס' 

 

XT = XL − XC = 4 − 10 = 6Ω             Z = √R2 + XT
2 = √82 + 62 = 10Ω 

I =
U

Z
=  

110

10
= 11A   

UL = XL ∙ I = 4 ∗ 11 = 44V            UC = XC ∙ I = 10 ∗ 11 = 110V             

 UV = UL − UC = 44 − 110 = 66V                   UV = XT ∗ I = 6 ∗ 11 = 66V    

 

L =  
XL

2 ∙ π ∙ f
=

4

2 ∗ π ∗ 50
= 12.7m             C =

1

2 ∙ π ∙ f ∙ XC
=

1

2 ∗ π ∗ 50 ∗ 10
= 318.5μF 

 

 [ XL<XC]  קיבולי 

 

P = I2 ∙ R =  112 ∙ 8 = 968 W          

Q = I2 ∙ XT =  112 ∙ 6 = 726 VAr    

S = U ∙ I = 110 ∙ 11 = 1210 VA   

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 91פתרון שאלה מס' 

Ueff =
Umax

√2
=

10

√2
= 7.07 v                     v             0= 1 maxU 

f =
ω

2∙π
=  

1000000

2∙π
= 159155 Hz                       =1000000 610ω =  

I =
U

Z
=

U

R
   →    R =

U

I
=

7.07

0.02
= 353.5Ω 

 

L =  
Q0 ∙ R

ω0
=

40 ∗ 353.5

1000000
= 14.14mH  

                 C =  
1

ω0 ∙ Q0 ∙ R
=

1

1000000 ∗ 40 ∗ 353.5
= 70.7pF        

 

UL = UC = Q0 ∙ UT = 40 ∗ 7.07 = 282.8V 

 

 

 

 

 

 

 

 

 

 

 

 

BW =  
f0

Q0
=  

159155

40
= 3978 Hz 

 

 

 

 

 



 20פתרון שאלה מס' 

 

 . רבי במצב תהודההזרם מ

I =
U

Z
=

U

R
   →    R =

U

I
=

20

0.5
= 40Ω 

 

XC  =  
1

ω • C
=

1

2 ∗ π ∗ 100 ∗ 5 ∗ 10−6 = 318.3Ω     

XC = XL = 318.3Ω →              L =  
XL

2 ∙ π ∙ f
=

318.3

2 ∗ π ∗ 100
= 0.506 H      

 

Q0 =  
X

R
=  

318.3

40
= 7.957 

BW =  
f0

Q0
=  

100

7.957
= 12.56 Hz 

 

 


